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HX 40,741 85,773 40,827 44,946
RIRET1T 6 14 8 6
RIRET2T 25 57 28 29
RIRET3T 179 578 279 299
RIRET4T 419 958 473 485
B 629 1,607 788 819
REH 2,774 6,124 2,863 3,261
L&A 4,375 9,342 4,361 4,981
5E 2,653 5,804 2,798 3,006
B AN 1,336 2,832 1,332 1,500
BERT 1,401 1,922 910 1,012
BER2T 900 1,609 798 811
BERST 763 1,871 898 973
B 3,064 5,402 2,606 2,796
BEXRE 287 638 304 334
= 2,183 4,750 2,263 2,487
hERE 636 1,393 637 756
e 2,431 4,946 2,390 2,556
25 L ET 2,352 4,958 2,382 2,576
B &AL BT 77 145 59 86
HEFILET1T 566 1,214 561 653
HEFILET2T 603 1,222 581 641
HEZFILAT3T 716 1,619 775 844
g 1,962 4,200 1,976 2,224
B & it B Fr ET 693 1,519 735 784
BHEREBET1T 586 1,168 567 601
BHERERET2T 759 1,685 817 868
BHERERETST 781 1,583 730 853
BHERERET4T 522 925 434 491
HEKERETST 847 1,656 791 865
HEERET6T 907 1,881 911 970
BHERERET7T 905 1,832 885 947
HERERETST 72 202 97 105
£t| 5379 10932 5,232 5,700
HEF R FET 2,007 4,061 1,983 2,078
S|EFET1T 655 1,586 784 802
S|EFET2T 779 1,735 822 913
S|EFET3 T 749 1,358 624 734
g 2,183 4679 2,230 2,449
ERE1T 592 1,298 623 675
EIRET2T 389 1,021 500 521
EREIST 523 1,315 648 667
EIRETAT 697 1,429 625 804
EIZEIST 553 1,182 586 596
g 2,754 6,245 2,982 3,263
M EFHE 2,940 6,155 2,880 3,275
J\THET1T 29 32 14 18
J\THET2T 24 48 23 25
J\THEI3T 50 106 48 58
B 103 186 85 101
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